Economics Problem Set 1 Answer Sheet

2. Neoclassical and Political Economics are both powerful tools of analyses and differ in what they look at in the world. Neoclassical economics views human nature as atomistic individuals who rationally maximize their own self interest with no regard to society – economic man or homo economicus – as given. Political Economy rejects this one sided view of humans, emphasizing that people are inherently social animals in a large part determined by the social environments they are implicated in, and, borrowing a technical term from psychology, characterizes people who only act to maximize their self interest with no regard to society as, “sociopaths.” Apart from their conceptions of human nature, the focus of their analyses differs drastically. Neoclassical economists use static models of perfectly competitive markets that always reach equilibrium and all interactions are voluntary. The analysis of power, if addressed at all, is only exercised by monopoly or government, the blame is passed on. The analysis of structures of power is central to Political Economy, which studies forms of command which are present in all spheres, including perfectly competitive markets. Also, the static models of market equilibrium leave little room for change, while in Political Economy, the changing structures of accumulation are a central question of analyses. The problems of inequality and unemployment as well are central to political economics, while they are given short shrift by neoclassical economics: unemployment is thought to be impossible in the long run because of Say’s Law and the flexibility of prices which will cause the market to reach an equilibrium of full employment, and inequality is only measured by a single scale. In Political Economy, unemployment is scene as a recurring problem that is more or less built in to capitalism, and inequality is multidimensional, encompassing race, class, and gender differences. Also, in Neoclassical Price Theory, the price of a good reflects all of its costs, and thus externalities are more or less overlooked, while in Political Economy, externalities are common and central to analysis. Finally, how they normatively evaluate a society is often quite different. Efficiency is the magic measure in Neoclassical analysis, while Political Economy focuses on many variables. 
Neoclassical economics is taught over Political Economy for two reasons: 1) While Political Economy is not prescriptive, it does not set out an ideal system of cooperative community based coops, etc, as an evaluative normative theory, especially in its traditional radical form, it challenges many basic assumptions regarding the organization of our society, and the oppressive and dominating ways power is organized and structured are central to its analysis. 2) Neoclassical economics, on the other hand, skirts around the study of power, and more or less justifies the present order. It sets out ideal models of competition to aspire to, concluding that the present system is the best of all possible worlds.

3. Unemployment: 

Smith: In the long run, unemployment is impossible, because supply creates its own demand. Productions generates an equal amount of income and, in turn, total spending. In the long run, society will always reach an equilibrium of full employment.

Schumpeter: I agree, unemployment is only temporary, part of the process of creative destruction that capitalism goes through.

Keynes: I challenge the assertion that in the long run society will always reach equilibrium of full employment. Instead of focusing on supply, we need to focus on aggregate demand. If we don’t boost total demand, aggregate expenditures will equal aggregate output at a level less than full employment. The government should use spending to create jobs in recessions to boost the total level of demand. If not, we will have great depressions. When we get out of depression, we can use tight money policies to pay off the debts.
Sen: I agree, it is the government’s job to remove sources of unfreedom and to correct market failures. 

Marx: Unemployment is required by a capitalist system. It is a crucial source of labor market discipline, without a reserve army of labor, the workers will demand wages that are too high. Further, because wages are a cost of production, workers must be paid less than they produce. This means that workers will never be able to consume everything they produce, and the problem of overproduction and under consumption will set back in, causing huge imbalances, and eventually depression. It is an insoluble contradiction inherent in the wage system. The government can try to correct this, but insofar as the state is the executive committee to manage the common affairs of the bourgeoisie and must support business confidence to avoid an investment strike, we can expect them to have their hands tied. Capitalism as a system in unstable and contradictory, if we want to remove sources of unfreedom, we need to create a system based on collective ownership over the means of production.
4. The surplus product is a key concept in political economy. One of the central questions of political economy is: who controls the surplus product? In capitalism, it is the owners of the means of production, which necessarily creates a class structure. Exclusive property rights over the means of production necessarily constitutes a four term power relationship between the owners, workers, the means of production, and the institution which enforces the owners rights to exclude the workers access to the means of production they require for life – the state. Further, how the state supports the accumulation process in many ways leads to the study of the evolution of the different social structures of accumulation, or stages of capitalist development, and how they change and evolve over time. The question of what supports the reproduction of these structures of accumulation, and the contradictions that limit their reproduction, is a central way that political economics analyzes history. From a normative perspective, the use of surplus and whether or not it is used to support a flourishing life for all members of society is also a central question.

5. Consider a society producing a single good, grain. There are 100 families, each using an identical production function. To produce a bushel of grain requires .2 bushels of seed, and 40 hours of labor. The crop, when produced is owned by a small number of families who employ the 100 families. Grain producing workers are paid, .02 bushels/hour, which is consumed by the entire family. Each family works 2000 hours a year, divided equally between grain growing and child rearing, i.e. 1000 hours are devoted to grain growing, 1000 hours a year for child raising. 

A. How much surplus is produced? Is there an exploiting class?

To find the total surplus, also known as profit, use the standard profit equation 

P = R – C; where R is total revenue, and C is total cost. 

R = h/40 = 2500 bushels. How do you find R? R is the total revenue, or how much can be produced over all. There are 100 families that can work 1000 hours, so the society in total can work 100,000 hours; h =  100,000. The society can produce one bushel of grain per every 40 hours of work; 1/40h or h/40. If we plug in the numbers and do the math we get 100,000/40 = 2500. The total revenue of the society is 2500 bushels. 

How do you find C? C is the total costs involved in producing the grain. In this problem, there are two costs: labor costs, and material costs. Labor costs .02 bushels/hour or .02h. If we plug in the numbers we get .02(100,00) = 2000. Labor Costs = 2000. Material costs are directly related to the total amount of grain produced,  (R).  It costs .2 bushels of seed per bushel of grain, or .2R.  If we plug in the numbers we get .2(2500) = 500. Total costs are equal to Labor Costs + Material Costs = 2500. 

In this society, the total surplus, or total profit, is 0 because R = C. They have only broke even, and not made a profit. While there is an exploiting class who own the means of production, the rate of exploitation is actually zero because no surplus has been extracted from the workers. Exploitation can be defined as the amount of surplus extracted from the working class, and is equal to net profit. Exploitation is not simply greedy capitalist paying their workers lower than standard wages. Even if the capitalist paid the worker more than the “fair” wage, exploitation could occur because if profit is made, and surplus extracted, the workers are being paid less than they produce. Consequently, it would not be in the owner’s interest to hire workers unless he paid them less than they produce. 
B.  The new lower cost of seed only affects material costs. In part a., the equation for material costs was .2R, where R is  the total revenue, or total amount of grain produced. The new function is .1R. If we plug in the numbers we get .1(2500) = 250. The new cost is 250, down from 500. The total savings in material cost is 250 bushels. Now there is a surplus of 250, and there is an exploiting class. The owning families now not only own, but they extract surplus from the working class. 

C. Now there have been greater changes in  the production process. The new equation for R is R = h/5, because it takes only 5 hours to make a bushel, rather than 40. Total revenue is now 100,000/5 = 20,000. 20,000 bushels are produced. 

As far as costs go, labor costs remain the same, 2000, even though more is produced, the laborers don’t receive a higher wage. As far as material costs, even though the equation for material costs remains the same, .1R, we have a new R which increases material costs. Instead of .1(2500) = 250, our new material costs are .1(20,000) = 2000. Total costs = 4,000. 

To find the new surplus (profit) we go back to the equation P = R – C.  R = 20,000, 

C = 4,000 so R – C = 20,000 – 4,000 = 16,000. The new surplus is 16,000. 

Now that 16,000 bushels of surplus are being exploited from the laborers, income inequality is dramatically increasing. Each working family is paid 20 bushels a year, while the owners have 16,000 to split.

D. It is important to note that there is a conflict between the interests of the workers and owners, not necessarily between their personalities. Class struggle or conflict is structural, not merely the result of mean, greedy capitalists. It’s not personal, strictly business. Conflict arises because workers wages are a cost of production. In competitive markets, firms must reduce costs as far as possible in order to maximize profit. This means that in order for a firm to be at its most efficient, it must pay its workers as little as possible. The higher the wage, the lower the surplus for the same productivity.

In order for the workers to increase their income, they could unionize, if they were allowed, and enter into collective bargaining or strike. However, even if they do secure higher wages, it would be through struggle against uneven power, and would not get rid of the structural conflict of interest generated by wages as a cost of production. 
